I | 2 | 3 | [ | 5 | 6 | 1 | 8

REFERENCE SPECIFICATIONS

1
NFC 93425 (11 compl iance with HE 508) cer s ¥DBIV” 25P500|V'|\
PHYSICAL CHARACTERISTICS A
-INSULATOR MATERIAL: THERMOSET UL94VO
“CONTACT MATERIAL:  BRASS Shell size: EABCD
GOLD OVER NICKEL (see sheet 3)
-ACCESSORIES: STEEL FOR METAL BRACKETS —
Cadmium plated, yellow passivation
THERMOPLASTIC UL94VO FOR PLASTIC BRACKETS Front accessory definition Obligatory for HES508
BRASS FOR OTHERS ACCESSORIES (see sheet 2)
Cadmium plated, yellow passivation Blank ‘without accessory
. : 8
“SHELLS: STEEL L “threaded insert M3
Cadmium plated, yellow passivation 0 “threaded insert UNC 4-40
ELECTRICAL CHARACTERISTICS v cfemale screw UNC 4-40
-NOMINAL CURRENT: 7.5A
“CONTACT RESISTANCE:  <=7.3 m Ohms Layout of contacts (see sheet 3) - —
~CONTACT/CONTACT : >21000 V 9.1525.31.50
Contacts
-CONTACT/GROUND : >21200 V P i
-INSULATION RESISTANCE: >=5000 MOhms ' c
Termination type
5 )
ENVIRONMENTAL CHARACTERISTICS Right angle/Europe standard
- CLIMATIC CATEGORY: 55/155/56 Plating
TEMPERATURE RANGE -55°C TO +155°C 00 Right angle 500 matings/unmatings |
DAMP HEAT STEADY STATE 56 DAYS 43 Right angle 500 matings/unmatings
for harsh environment
SALT SPRAY 48 HOURS

PCB accessories definition(see sheet 2)

MECHANICAL CHARACTERISTICS ’ D
Blank ‘Plastic brackets
RETENTION AGAINST TORQUE: -Threaded insert:0.7 N.m min c “Without brackets
-Female screw:0.5 N.m min M ‘Metal brackets
E
T
g
2 surface - : tolerance std fprojection
:. 25 WAY FOR EXAMPLE www. fciconnect.com 150 1302 150 406 15O 1101 @6 mm
5 TOLERANCES UNLESS OTHERWISE SPECIFIED T —
© Dr | M PESSON 2006/11/14 NGULAR 0.x +0.3 size Scale
’;_'%%ﬁ Eng [P LEGARE | 2006/11/14 LINEAR [ oxx | 0.1 A2 201 F
- “Xehe | P LEGARE 2006/11/14 Jo [22 0. XXX +0.05 ECN LS08-0014
S poosonq - ROl [P LEGARE 2006711714 JProduct family Y Spec ref
° e Rev
= SUB MALE DM HES508 series o COI-8637-1744
[~ with right angle contact o — B
— - - - - catalog no - CUSTOMER fsheet 1 of 9
I | 2 | 3 | [ | 5 | 6 | 1 | 8

PDM:FR&RB B  staTusRETEeai8eehsedprinted’joked 7, 20188, 2015



I | 2 | 3 | [ | 5 | 6 | 1 | 8
& 3
o = A
Q| |
V |
=== e R = = ==
e I e I e = = I == —
| | \ I I =
I I I I I I I 1
L L _ L L
e [
Ny g \N |
ST O = — 4 I k 8
I _ B
| | | =
| | | : |
I I I 4‘7
23.10 4101 . f B310 01 —
FRONT ACCESSORY L insert M3 female screw UNC 4.40 Blank Without L insert M3 V female screw UNC 4,40
Blank Wi thout O insert UNC 4.40 v 0 insert UNC 4.40
Ithou Without I thou eta racke eta racke eta racke
PCB ACCESSORIES C  Without c C without M Metal bracket M Metal bracket M Metol bracket c
I o e ——— I == - == \ Ia: E =
e - P! 7j ‘ P<——=x 7j ‘
8 g I I g | 1 D
= . T
g o\ I = .. s
® / / s T ® s i .
A pp— N Nz—— -
i
| N
I N LN
N N
@310 +0.1 I £
‘ L insert M3
? FRONT ACCESSORY Blank Without O insert UNC 4 40 V female screw UNC 4.40
PCB ACCESSORIES Blank Plastic brocket Blank Plostic bracket Blank Plostic bracket
g
=.. surface - tolerance std fprojection mm
- ci t. 150 1302 150 406 1SO 1101
5 " creennec con TOLEM ES UNLESS OTHERWISE SPECIFIED @E W —
[~ Dr |M PESSON 2006/11/14 0.x +0.3 size Scale
Eng | P LEGARE 2006711714 [P A Linear [on 0.1 A2 2:1 F
Chr | P LEGARE 2006/11/14 a'Iiz' 0.XXX +0.05 ECN LS08-0014
Appr| P LEGARE | 2006/11/14 |Product family ASpec el
o ° Rev
SCALE: 4 'gg SUB MALE DM HE508 series S C01-8631-1744
: [~ with right angle contact o — B
— catalog no CUSTOMER fsheet 2 of 9
T I 2 I 3 I ! I 5 I 6 I I 8

PDM:FR&\RH B

sTaTusRETBaI8elehsedprinted?j0fed 7, 20188, 2015



Copyrighl FCI.

2 | 3 | 6 | 1 | 8
FRONT PCB Contact number FRONT pCB
PART  NUMBER ACCESSORY ACCESSORY XX PART ~ NUMBER ACCESSORY ACCESSORY
D*MxxP500CN without without D*MxxP543CN without without
D*MLxxP500CN insert M3 without 09 D*MLxxP543CN insert M3 without
DxMOx xP500CN insert UNC 4.40 without ) DxMOxxP543CN inseri UNC 4.40 without
D*MVxxP500CN female screw UNC 4.40 without 25 D*MVxxP543CN female screw UNC 4.40 without
D*MxxP500MN without Metal bracket 37 D*MxxP543MN without Metal bracket
D*MLxxP500MN insert M3 Metal bracket D*MLxxP543MN insert M3 Metal bracket
D*MOxxP500MN insert UNC 4.40 Metal bracket 50 D*MOxxP543MN insert UNC 4.40 Metal bracket
D*MVxxP500MN female screw UNC 4.40 Metal bracket D*MVxxP543MN female screw UNC 4.40 Metal bracket
D*MxxP500N without Plastic bracket D*MxxP543N without Plastic bracket
D*MLxxP500N insert M3 Plastic bracket D*MLxxP543N insert M3 Plastic bracket
D*MOx xP500N insert UNC 4.40 Plastic bracket D*MOxxP543N insert UNC 4.40 Plastic bracket
D*MVxxP500N female screw UNC 4.40 Plastic bracket D*MVxxP543N female screw UNC 4.40 Plastic bracket
CROSS REFERENCES HES0! and FCI
. FRONT
HES08 P/N FCI7P/N ACCESSORY ACCESSORY
HES08PxxVP6 D*Mx xP500N without Plastic bracket
HE508MxxVP6 D*Mx xP500MN without Metal bravket
surface - tolerance std fprojection mm
www. fciconnect.com 150 1302 150 406 IS0 1101
TOLERANCES UNLESS OTHERWISE SPECIT IED @E} —
Dr |M PESSON 2006/11/14 NGULAR 0.x +0.3 size Scale
Eng [P LEGARE 2006/11/14 LINEAR [ o.xx £0.1 A2 2:1
Chr | P LEGARE 2006/11/14 a'\iz' 0.XXX +0.05 ECN LS08-0014
Appr | P_LEGARE 2006711 /14 JProduct family -§Spec ref
© e Rev
= SUB MALE DM HES08 series - CO1-8637-1744
[~ with right angle contact o — B
— catalog no - CUSTOMER Jsheet 3 0F 9
2 | 3 | 6 | | 8
PDM:PR&RE3:B  sTaTusRETea8eehsedprintedinied7 2148, 2015




[.50 max

DIMENSION FOR SHELL E,A,B,C WITHOUT BRACKET

. 90,63 4:0.03 io
TTIIITIIITIIITI z Dimensions are in millimeters A
A — S A S T T PN L S I S B O R
IIIIB@ El 09 [30.43 |16.79 |24.99 | 10,47 | 5.9 ' | 19.02 |0.80 B
/

— Al 15 [38.76 [25.12 [33.32 | 10.47 | 5.9 " | 27.25]0.80
! B | 25 [52.65 [38.84 [47.04 |10.43 | 5.7 &% | 41.02|0.80 8
C| 37 168.94 |55.30 [63.50 [10.56 | 5.7 ‘% | 57.45]0.90
—
B Iy = c
r‘f‘ﬂj, I e | 3 Ef
f ‘ L ! [‘ =

F
—
10.3 +0.

9

Copyrighl FCI.

A
) 405 ]
C LAYOUT DIMENSIONS
20.9mini
© ) 376 shell 25-37 1.38 shell 25-37
s = 2 74 shell 09-15 .37 shell 09-15] [
w = .
Yo} PR, o
- 2.76 shell 25-37 -
o™ < : obv dboo Io 00 0 0|0
- 2 T4 shell 09-15 : o w -
e OOOOOO?OOOOOO E
4 7
I
K | 13 ' !
(} $$$$$$jea$$$$ ¢3‘iO.IO
: \$$$$$$I$$€}$$$H @ :
"
|
f ) ' =
UUUUUUUUUUUUUUUU UUUUUUU surface - tolerance std fprojection mm
www. fciconnect.com 150 1302 150 406 IS0 1101
TOLERANCES UNLESS OTHERWISE SPECIF IED @EI —
Dr | M PESSON 2006/11/14 NGULAR 0.x +0.3 size Scale
1.38 shell 25-37 Eng [P LEGARE 2006/11/14 LINEAR [ o.xx £0.1 A2 2.1 3
Chr | P LEGARE 2006/11/14 a'Iiz' 0.XXX +0.05 ECN LS08-0014
.37 shell 09-15 Appr | P_LEGARE 2006711 /14 JProduct family -§Spec ref
. > 2 Rev
SCALE:3 = SUB  MALE DM HES08 series > COI-863T-1744
[~ with right angle contact o — B
catalog no - CUSTOMER fsheet 4 of 9

I 2 I 3 I ‘ I 5 I 6 I I s

PDM:FR&ReB B staTusRETeai8eehsedprinted’jofed 7, 20188, 2015



! I 2 I 3 I ] I 5 I 6 I 1 I 8

DIMENSTON FOR SHELL E,A,B,C WITH METAL BRACKET

20,63 40.05 ‘ ‘ o A

e e Dimensions are in millimeters
TTTITTIITTTITTI Shel Numb:r*of A .18 B 102 Coxore | F 1057 G'IOO.ES H fs.sw ] .22

1L L) LI | size contacts
" " " "
HHHHRHHEAARRAR - i
III,I,IIIIIIIIIII E | 09 [30.43 |16.79 |24.99 | 10.47 | 5.9 5 19.02 | 0.80
bEdododd Al 15 [38.76 |25.12 [33.32 |10.47 | 5.9 0" | 27.25]0.80

|

I = B | 25 |[52.65 [38.84 |47.04 | 10,43 | 5.7 0% | 41.02 |0.80 .

i C 37 168.94 |55.30 [63.50 [10.56 | 5.7 ‘% | 57.45{0.90

1.2 401

14.68 40.2

12.3 +03

N
.
A

f
—
10.3 402
|

.64 £0.2
I 1
C_ ]
—

Copyrighl FCI.

-
A
405
0
¢ LAYOUT DIMENSIONS
B0.9 mini
83 B 276 shell 25-37 L.38 shell 25-37
T = 7 74 shell 09-15 .37 shell 09-15 B
[Tl 2 .
w PR o~
- 2.76 shell 25-37 > ; \b ‘
™ < T O O O 0 0|0 OO O 0|0
- 274 shell 09-15 e - I @—
= A O O O O O O O O O O O O E
. Y | I
(9N} / I
1 |
o= reeee oo e e 0o @ g | E0
DD .
W&‘WW$$$$I$$E}$$$J
I J
T -
S 1 —
IIIUUUUUUUIIIUUMMIIIUI‘II IIIMMIIIIIIUU surface - tolerance std fprojection
www. fciconnect.com 150 1302 150 406 SO 1101 mm
TOLEM ES UNLESS OTHERWISE SPECIFIED @E —
Dr | M _PESSON 20067714 | oo 0.1 303 |size Scale
| 38 shell 25-37 Eng [P LEGARE 2006/ 11/14 LINEAR [ o.xx 0.1 A2 2:1 3
Chr | P LEGARE 2006/11/14 a'Iiz' 0. XXX +0.05 ECN LS08-0014
.37 shell 09-15 Appr| P LEGARE 2006/11/14 JProduct Fo_mIIy -fSpec ref -
. [~ 2 e
SCALE:3 = SUB MALE DM HES508 series > C01-8637-1744
[~ with right angle contact o — B
catalog no - CUSTOMER fsheet 5 0f 9

T | 2 | 3 | [ | 5 | 6 | | 8

PDM:FR&ReB B staTusRETeai8eehsedprinted’jofed 7, 20188, 2015



DIMENSION FOR SHELL E,A,B,C WITH PLASTIC BRACKET

15.18 4102

+0.38
-0.38

[2.55

;‘? Dimensions are in millimeters A
; S:IezIeI N(uom”b:ardosf A .18 B 102 Coxore | F 1057 G 0% H fs.sw ] .22
3 09  130.43 [16.79 [24.99 | 10.47 | 5.9 ‘& [19.02 |0.80 B
Al 15 [38.76 [25.12 [33.32 | 10.47 | 5.9 " | 27.25]0.80
B | 25 [52.65 [38.84 [47.04 |10.43 | 5.7 &% | 41.02 |0.80 8
H C| 37 [68.94 [55.30 [63.50 |10.56 | 5.7 &% | 57.45|0.90
1.2 40
4 ™ 1
& S IO IOIIN ﬁ) T
i ‘ I‘III‘I‘IIIII‘III‘III‘I‘I ! U B
A | ! [ : i E ¢
— +H E | w

F
10.3 02
|

Copyrighl FCI.

4 405
0
C LAYOUT DIMENSIONS
B0.9 mini
] > 76 shell 25-37 1.38 shell 25-37
= 7 74 shell 08-15 .37 shell 09-15 B
So o~
2.76 shell 25-37 - ; \b
< T O o O O OIO O O O O|0
2 T4 shell 09-15 : o w -
< O O O O O O O O O O O O E
1 [
|
7 A ‘
PP P00 €}e}$$$$”/ } ¢3‘iO.IO
oo 000 ol oo o o I\@ '
‘ | ") =
f had ' e
T
I URURURU Unl URURL
UUMUUUUUUUUUMMMM IIIMUMIIIIIIU surface - tolerance std projection
www. fciconnect.com 150 1302 150 406 IS0 1101 mm
TDLEM ES UNLESS OTHERWISE SPECIFIED @E —
Dr | M_PESSON 2006711714 f oo 0.x £0.3 |size Scale
| .38 shell 25-37 Eng [P LEGARE 2006/ 11/14 LINEAR [ o.xx £0.1 A2 2.1 3
Chr | P LEGARE 2006/11/14 a'Iiz' 0. XXX +0.05 ECN LS08-0014
.37 shell 09-15 Appr | P_LEGARE 2006/11/14 §Product Fo_mIIy -§Spec ref
= SUB  MALE DM HES508 series |5 oo\ ge37-1744 |
- with right angle contact S — B
catalog no - CUSTOMER fsheet 6 of 9

I 2 I 3 I ‘ I 5 I 6 I I s

PDM:FR&ReB B staTusRETeai8eehsedprinted’jofed 7, 20188, 2015



I | 2 | 3 | 5 | 6 | 1 | 8
o 0.63 4005
T LAYOUT DIMENSIONS
LML IALANAARAA0ABRAEA
R SRR 38
(= o L E 3 B0.9 mini 2.76 '
I I: I: I: I: I: I: I: I: B N N 4—’—'—*
@ | [SUEIEIINTT |\ e = P N RO
ISR Y Y Y Y ~ want ©000000000000000 d}
Wi ks ? O O O OO0 O 0 O O O O O O O o0 O i
-
3 ‘iO.IO
55.07 " '
66.55 "
(1P 1
- = IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII — 1L _
g j | I I I I I I I I I I I I I I I Q I I I j
- 2 SRR < e 3 =
- = I = 3| o
T J ! II—I—I ¢ 5 ’; ~
f f ‘ 1 ! J ‘ ~ E:I ] J
| : || 3
I 11 40 o F 5 a0
g, 52.68 07 = -
7 ﬂ@@eeea@@@@@@e@@@@@‘m/
= -\ voooo00 90000000 o //@
= ‘ "&&&&&&&&@e&&&&@&@p
? UUUUUUUUUUUUUUU U UUUUUUUUUUUUUU SHELL SIZE D WITHOUT BRACKET(50 CONTACTS)
g - v feicomnect . com I:E[gﬁ; urILEssmIH{III;IiE:::I[:canII:: png:\IiI" -—-mm
N 216 eterronst—aoor i PO cnew [ a2 o
Chr | P LEGARE 2006/11/14 a'Iiz' 0. XXX +0.05 ECN LS08-0014
Appr | P_LEGARE 2006711 /14 JProduct family -§Spec ref
'ggsus MALE DM HES08 series |5 o\ ge37-1744 |
[~ with right angle contact S — B
cotalog no CUSTOMER Jsheet 7 0f 9
i I 2 I 3 I 5 I 6 I I 8
PDM:PR&RE3:B  staTusReETea8eehsedprintedinked 7, 20148, 2015




e 063 005

16,50 T

15 37 109

LAYOUT DIMENSIONS A
tARaRRneARRaRRRORRRARARARAROANNE
— :::II::II::II::II::II::II::II::II — %
T HEHEOHH DOOR BB EEEEE LD OO D I o= I 3 0.9 mini 2.76
| T ) - o | :
@ I@I@‘@I@‘@Ié‘@w@ @I$‘@I@‘@I£;‘@I@‘ @ i’;o ‘ O O\O O O O O O ? O O 6 6 O O O|O
I) Ij) (I (I) I) I) (I (I) )I) (I (I (I) I) (I (I (I) > } © 00000000 O0O0O0O0O0O0O0 ‘@’
\\ = O O O O O OO0 O O O O O O O o0 o
1 1
55.07 03 g3 " °
07 .
66.55 "
6.OOiOI
| |
! I — ] — C
[T 0T = :
= *%} ‘IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII ‘I - == ‘II | I‘ i =
N g | ) = z o~ B
- s 0 - LT 3
| | | T iyl
% I I : | 3 0
- ‘ff é 47
TR 2 = =
: 52.69 00 R P i
=< 09
= S z :

KG}G}G?&G}G}G?&JLG}G?&G}EBEBG}@I
@k'&ﬂ}&ﬂ}ﬂ}ﬂ}&{}&&&&ﬂ}&&@”su///@
M ) B ARSI/ SHELL SIZE D WITH METAL BRACKET(50 CONTACTS) i

Copyrighl FCI.

[ Se—

= T, — & ETEE et

TOLERANCES UNLESS OTHERWISE SPECIFIED —
g —

| 38 Dr | M _PESSON 2006/ 1 171a f oo 0.x £0.3 Scale
- Eng | P LEGARE 2006/11/14 LINEAR | o.xx 0.1 A2 2:1 F
cnr [P LEGARE 2006/11/14 Jo [+2 o xxx_ | +0.05 ECN L508-0014
Appr| P LEGARE 2006711714 JProduct family -JSpec_ref

2.16

Rev

% SUB MALE DM HES08 series CO1-8637-1744
[~ with right angle contact — B
catalog no - CUSTOMER fsheet 8 of 9

awg no

I 2 I 3 I ‘ I 5 I 6 I I s

PDM:FR&ReB B staTusRETeai8eehsedprinted’jofed 7, 20188, 2015



I | 2 | 3 | [ 5 | 6 | 1 | 8
0.63 £0.05
A LAYOUT DIMENSIONS
E > 80.9 mini 2.76 .38
- o] e ﬁ—h
‘ oo\oooooo?ooééoooo
ﬂ} O 00 0O0O0O0OO0000O0O0OO0O0 O {D
} O 0 0O0O0O0O0O0 O 00O0O0O0O0O
8 £0.10
33.
55.07 )"
66.55 10"
¢ /é (é\ .
5 - I‘I ! ! | | ! ! | | ! ! | | | ! | - i "7’7777;
s 3 I I L L - i =
< = | [ IO EATTATIEIIA Yy 1 ] =- . Ir‘ 3 =
P ——— ! ~ z f = o
) Bl - : ‘ R
I = I f
- | | | - | ;
D H I i e
6.1 " ° E 4.0 05
o= 52.68 "% 8.6 +0.I
¢ ; ﬂ&&&&&&&&e&&&@&&&@‘m/ﬁ
? " @ \:’$$$$$$$‘W$$$$$$@”“//\\w SHELL SIZE D WITH PLASTIC BRACKET (50 CONTACTS)
- $$$$$$$$€39$$$$$$$J
g | - — =
I —
% " fc feennee + eor ‘:ZLE‘E ES UNLESS OT‘I»ISE(;W‘IOSEE SP‘[?IF‘I‘EQD‘ @5 —
” .38 T T ETIITAT o (N T e I Y MR I
2 76 Chr | P LEGARE 2006/11/14 a'Iiz' 0.XXX +0.05 ECN LS08-0014
P Appr| P LEGARE 2006/11/14 JProduct Fo_mIIy -fSpec ref
'g; SUB MALE DM HES08 series |5 o) ge37-1744 Rev
- with right angle contact S — B
catalog no - CUSTOMER fsheet 9 of 9
I 2 I 3 I : I 5 I 6 I I 8

PDM:FR&ReB B staTusRETeai8eehsedprinted’jofed 7, 20188, 2015



Mouser Electronics

Authorized Distributor

Click to View Pricing, Inventory, Delivery & Lifecycle Information:

FCI / Amphenol:
DAML15P500N DEMO9P500CN DEMVO9P500MN DAM15P500MN DAM15P500N DBM25P500MN DBM25P500N
DCM37P500N DDM50P500N DAM15P500CNSP718 DAM15P500CN DEMOO9P500M



https://www.mouser.com/fci
https://www.mouser.com/access/?pn=DAML15P500N
https://www.mouser.com/access/?pn=DEM09P500CN
https://www.mouser.com/access/?pn=DEMV09P500MN
https://www.mouser.com/access/?pn=DAM15P500MN
https://www.mouser.com/access/?pn=DAM15P500N
https://www.mouser.com/access/?pn=DBM25P500MN
https://www.mouser.com/access/?pn=DBM25P500N
https://www.mouser.com/access/?pn=DCM37P500N
https://www.mouser.com/access/?pn=DDM50P500N
https://www.mouser.com/access/?pn=DAM15P500CNSP718
https://www.mouser.com/access/?pn=DAM15P500CN
https://www.mouser.com/access/?pn=DEMO09P500M

